

Dear Superintendent & Board President,

We appreciate the support that your school board and the other boards in Alaska provide through your membership in AASB. The work we have accomplished as an Association is only possible because of the individual commitment and contribution of our members.

AASB was established by a small group of school board members in 1954 to provide support for their boards and districts. Then, as is the case today, the membership and Board set the direction and identified the goals of the Association.

The Association has created a strong and united voice for advocacy on behalf of all of Alaska's youth. It has raised public awareness about the needs of students and has elevated the effectiveness and credibility of school boards in their governance role. The membership is highly regarded as youth advocates by the legislature, the executive branch, the state's business community and the general public.

AASB staff and the membership provide visible, credible representation before the Alaska Legislature and the U.S. Congress. AASB's credibility was instrumental in the creation of the Alaska Initiative for Community Engagement (ICE) and through the Consortium for Digital Learning (CDL). Both of these have provided more than \$31.8 million to member districts over the past seventeen years.

AASB staff provides direct services to every school district and school board in the state. To truly appreciate the value of AASB, one need only imagine what children's education and your Boardroom would be without AASB. The enclosed Participation List shows the services and activities your Board has utilized recently.

The value and benefits of membership in AASB are linked to that strong voice and advocacy.

#### **Dues History and Structure**

In 1988 when AASB developed its first long range plan, our members were surveyed to tell us what kinds of services, programs and representation they wanted from their association. We then determined how much revenue would be required to support the organizational structure that could provide what they requested.

A committee consisting of School Board members from around the state developed the dues structure in 1991. It is designed on elements that recognize the diversity and sizes of districts and their budgets, level of service generally used by large and small districts, the benefit of statewide representation to all districts, and a desired balance of revenues from dues and other revenues from services. The elements of the dues structure include a base fee computed using Average Daily Membership (ADM), with correspondence students weighted at 90%, the same amount used in the foundation formula. The District Cost Factor (DCF) identified for each district in the Public School Foundation program then adjusts this base fee. A second major component of the dues structure is

an assessment of your district's general budget at .00011. These two, the base fee and the assessment, are combined to generate the amount in dues.

The goal in development of the AASB dues structure was to arrive at a fair and equitable method of assessing dues, one that would take into account a district's ability to pay and the level of service normally used by districts of different sizes.

We are a diverse set of school districts, ranging from Pelican with just under a dozen students to Anchorage with close to 50,000. That diversity, and the economy of scale that goes along with it, requires some method to create an equitable means to assess dues. The Dues Committee tied its method to similar criteria used in the foundation formula. The elasticity provided in the foundation is the DCF. The 1991 Dues Committee identified the DCF as one of the primary elements upon which the dues would be assessed. Since then, AASB has shared in the increases and declines of state support to schools. In 1996 AASB dues were reduced by 15% to address a decline in state funding. That reduction has never been reinstated.

Originally the Board of Directors determined that a balance of funding sources should be divided between 50% dues and 50% fees. In actuality, as AASB has grown and established grant based funding sources such as Alaska Initiative for Community Engagement (ICE), that balance has shifted so that about 20% is derived from dues, 37% from grants and major contracts, 37% from workshops and services and approximately 6% from miscellaneous revenue.

The mission of AASB is to advocate for children and youth by assisting school boards in providing quality public education, focused on student achievement, through effective local governance. Dues provide a firm foundation to achieve our mission by providing the foundation for our core services to School Boards.

The support of all school boards is critical to keeping AASB services available and affordable. Without your support, the Association's voice on behalf of school governance would not be as strong or as credible.

Your invoice for your 2018 dues is attached.

Sincerely,

Mike Swain AASB Board President

## **AASB** Membership Benefits

*Mission:* To advocate for children and youth by assisting school boards in providing quality public education, focused on student achievement, through effective local governance.



association of ALASKA school boards

AASB

1111 W. 9th St. Juneau, AK 99801 Phone: 907-46-1660 Fax: 907-586-2995 Email: <u>aasb@aasb.org</u> Web: www.aasb.org AASB prides itself on offering a variety of relevant, innovative services to our membership.

Our experienced staff will work with your district, schools, board, and community to meet your needs in improving and sustaining high student achievement.

#### The following is a list of core services provided as a function of your AASB Dues.

#### **Keeping Members Informed**

#### **Publications**

- Weekly Legislative Bulletin online
- Legislative Candidates Survey
- Position Papers on specific legislation
- · Lobbying Handbook
- AASB Commentary (monthly digital newsletter)
- Facebook and Flickr sites
- Teacher, Administrative and Classified Salary and Benefit Survey
- Critical Issues series

#### Lobbying & Representation

- U.S. Congress
- State Legislature
- State Board of Education & Early Development
- State and Federal Agencies
- Liaison with other educational organizations (i.e., ACSA, PTA, NEA, etc.)

#### **Providing for Member Involvement**

#### **Association Governance**

- Formal resolutions process to allow school boards to establish unified positions on legislation
- Membership representation on committees for Constitution and Bylaws, Board of Directors Nominations, Awards and AASB Budget
- Board Liaison Network (BLN) provides a direct link between the membership and the Board of Directors

#### **Providing Direction**

• Membership provides input in updating the Long Range Plan that is adopted by the AASB Board of Directors.

#### **Developing Effective Governance**

#### **Professional Development**

- Materials: For use by boards
- Free Webinars for Resolutions, Legislation and New Board members
- Professional development opportunities at substantially lower cost because of association membership.

### **AASB** Membership Benefits

Mission: To advocate for children and youth by assisting school boards in providing quality public education, focused on student achievement, through effective local governance.



#### association of ALASKA school boards

#### AASB

1111 W. 9th St. Juneau, AK 99801 Phone: 907-46-1660 Fax: 907-586-2995 Email: <u>aasb@aasb.org</u> Web: www.aasb.org

#### **Developing Effective Governance (continued)**

#### Policy

- · Consultation on matters of policy
- Research on policy issues

#### **Labor Relations**

- Clearinghouse for labor relations information
- · Salary and benefit publications which provide support for district negotiations
- Negotiations Updates

#### Legal

- Research on issues of statewide importance
- Amicus curiae briefs

#### Supporting Innovation

#### **Superintendent Search**

• Offer search services at substantially lower cost because of association membership

#### **Community Engagement**

- · Resources available to member districts
- Materials and training opportunities
- 34 Districts have partnered with AASB's Alaska Initiative for Community Engagement (AK ICE) to receive funding and support for their community engagement efforts. More than \$8 million has been distributed to districts and communities in Alaska since 2000.

#### **Student Achievement**

- CDL is providing support and consultation to districts to assist in the integration of technology into curriculum and instruction.
- School Improvement Service has worked with 33 school districts to provide support and resources for improving student achievement.
- School Climate & Connectedness Survey (SCCS) has been provided free to ICE districts providing information on student and staff perceptions of the school environment.

As a membership organization, AASB exists to serve the needs of school districts across the state. Since 1954 we have grown from a small agency to become a mature, professional non-profit organization that offers a wide variety of services and benefits to members.

Our mission "to advocate for children and youth by assisting school boards in providing quality public education, focused on student achievement, through effective local governance," guides us in meeting the needs of your district and your board.

Contact AASB today to find out more information on the services we provide.

Nov.			٧							
2016-		e	Academies/ Fly in/ Ex Admin	Boards/APC/ ASB		ch		Community Engagement (ICE) and SEL		٩
	DISTRICT/	al reno	mies Adm	ls/A	es	ear	ing	nun gem	e te	irshi
OCT	ΑCTIVITY	Annual Conference	Academies/ I in/ Ex Admin	oard SB	Policy services	Supt. Search	Digital Learning	Community Engagement (ICE) and SE	School Climate /Survey	Scholarship
2017			Ac in,	BC		Sul	r Di	375	2 C S	Sc
	Alaska Gateway									
	Aleutians East									+
	Anchorage									+
	Annette Island									
	Bering Strait									*
	Bristol Bay									+
	Chatham									
	Chugach									*
	Copper River									*
	Cordova									
	Craig									*
	Delta Greely									
	Denali									
	Dillingham									
	Fairbanks									*
	Galena									*
	Haines									*
	Hoonah									
	Hydaburg								•	
	Iditarod Area									
	Juneau									
	Kake									+
	Kashunamiut	-		-				-	-	+ *
	Kenai Peninsula	-	-	-	_		-	-	-	
	Ketchikan	-	-	-						+
	Klawock	-		-			_		-	+
	Kodiak	-							-	
	Kuspuk	-				-	-	-	_	+
	Lake & Pen			-				-		
	L. Kuskokwim	-	-		-					+ *
	L. Yukon			-				-	-	*
	Mat-Su	-	_		-			-	-	مله
	Nenana									*
	Nenana Nome	-		_	_					*
								-	-	
	North Slope Northwest Arctic	-			-	_			-	*
			_		_				-	*
	Pelican Deteration									
	Petersburg								-	+
	Pribilofs									
	Sitka Skommen		-					-	-	*
	Skagway	•								*
	SE Island		_					_	-	*
	Southwest	-							•	
	St. Mary's	-	_							*
	Tanana	-	_		-				_	
	Unalaska Valdas								-	+
	Valdez		_		-				•	*
	Wrangell			_						+
	Yakutat	_								
	Yukon Flats			_			_		_	
	Yukon Koyukuk	_				_	•			+
	Yupiit									
	Mt. Edgecumbe									
	*Scholarship Ap	plicatio	ons			+Scł	nolars	hip winn	iers	

#### ELEMENTS OF AASB DUES STRUCTURE FYE 12/31/2018

A Dues Committee of school board members from around the state developed the dues structure in 1991 with technical assistance from the Southeast Regional Resource Center, in conjunction with AASB's Long-Range Plan. The objective in development of the AASB Dues structure was to arrive at a fair and equitable method of assessing dues that would take into account a district's ability to pay and the level of service normally used by districts of different sizes. Other issues considered by the committee in developing the dues structure included:

EQUITY – given the diversity of the sizes of districts in the state and their corresponding budgets, how could the dues structure address ability to pay without unduly burdening any member?

LEVEL OF SERVICE – larger districts might be able to meet more of their immediate needs through their staffing, while smaller districts must rely on the association to provide them with direct services they can't afford to staff for. On the other hand, AASB provides standard services and opportunities to all members through its publications and conferences that are needed equally by all member districts regardless of size.

STATEWIDE REPRESENTATION – AASB provides a statewide presence for all school boards through its representation before the Legislature, State Board, etc. All districts benefit from the presence regardless of size.

BALANCE OF DUES AND FEES – much of AASB's income is derived from entrepreneurial enterprises – direct services, conferences, contract work. This is done at a lower rate than outside providers can offer because dues underwrite it. Dues should not provide so much revenue that there is no incentive for AASB to earn more through services. On the other hand AASB is limited in the amount of revenue it can generate through services because of the size of its staff and membership. There should be a balance between dues and fees for the AASB budget. Keeping those considerations in mind, the following elements were incorporated in the dues structure:

(1) District Size/Pupils in average daily membership (ADM)

District ADM	Base Fee - \$
100 or less	1,700
101 – 250	3,400
251 – 500	4,250
501 – 1,000	5,950
1,001 - 2,000	7,650
2,001 – 3,000	9,350
3,001 - 8,000	12,750
Over 8,000	17,000

- (2) Multiply the base fee by the District Cost Factor (formerly Area Cost Differential) identified for each district in the Public School Foundation program, AS 14.17.460.
- (3) Assess .00011 of each district's current year general fund budget. This ties AASB's revenues to the general financial condition of its members if district revenues rise, AASB will receive a nominal increase; if district revenues fall, AASB shares in that hardship as well.
- (4) Combine (2) and (3) for total AASB dues. No district will pay less than \$2,000. The districts in the two largest ADM categories will incur a 1% increase annually.

0.000.0	0	(, , , , , , , , , , , , , , , , , , ,		0,100	-	÷ 0,10	j c i			¢	1,020	<u></u> +	7,200	-00 #	_		100	Tabit
0.111/0	36	0,244 7// €	e e	9,902 8 780	9 4	0,202 0,202	+		+	e e	<u>م</u> اد		1 350	4 00V			887	
0.000/0	4 720	+		0,04	+		+			e e			4 350	+	,		257	
%000 N	42	+	م	л л41	<u>~</u>		-			م			4 250	+	•		272	Wrangell
0.092%	21	-	ŝ	6,956	-		-			ŝ		1.441 \$	4,250	-			420	Unalaska
0.073%	(4)	-	÷	6,227	-		940 \$			\$		1.244 \$	4,250	-	-		479	Petersburg
0.068%	30	10,067 \$	<del>ده</del> ر	10,097	7 \$	\$ 10,097	,622 \$	_	14,748,758	÷	8,475	1.994 \$	4,250	335 \$	8	9	327	Lake & Pen. Borough
0.065%	48	8,830 \$	÷	8,878	-	\$ 8,878	,509			÷		1.734 \$	4,250	-	,	ı	355	Kuspuk
0.105%	(65)	7,754 \$		7,689	-		-	\$		÷		1.619 \$	4,250		1	ı	331	Kashunamiut
0.112%	31	-		8,696	-		-			÷			4,250	-	56	105	205	Iditarod Area
0.069%	(10)	+-		6,796	+		+		9,780,533	e.			4,250	+-			484	Dillingham
0.080%	(2,001)	╋		2,88,0	+		+			÷			4,250	╋	ĞLZ	243	617	
0.10370	(+1)	+		5,005	+		+			÷			4,200	+	+ 0.0	4	070	
0 103%	177/	+	A 1	7 860	+		-			A I	7 272	1 22/ 0	1 220	+		× !	316	Cordova
0.090%	41	-		6.370	-		-			ŝ			4.250	-	64	72	368	Copper River
0.174%	43	6,744 \$	\$	6,787	\$	\$ 6,787	429 \$			÷		1.496 \$	4,250	340 \$	277	308	63	Chugach
0.076%	41	6,604 \$	\$	6,645	-	\$ 6,645	959			Ś		1.338 \$	4,250	307 \$	,	ı	307	Annette Island
0.078%	86	7,795 \$	\$	7,881	<del>ب</del>	\$ 7,881	,106 3	\$ _1,`	10,057,457	Ś	6,775	1.594 \$	4,250	348 \$	45	50	303	Alaska Gateway
					-		-											ADM 251 to 500
0.062%	(97)	8,570 \$		8,473	ω \$	\$ 8,473	1,512 \$	\$ 1,5	13,742,857	÷	6,962	1.170 \$	5,950	634 \$	33	37	601	Valdez
0.062%	108	12,074 \$	\$	12,182	-	Ι.	-			÷	Ι.	1.685 \$	5,950	578 \$	-	1	578	Southwest Region
0.072%	(120)	+	6	10,177	+		-		⊢	6			5,950	+	14	15	685	Nome
0.094%	(CZ)	+-	e e	8,9/3	-	\$ 8,9/3	1,047 \$	¥		ť	d76' /		0,950	\$ LOR	cgc	000	216	Denali Borough
0.000%	C7	+		0,002	• •		_			÷		1.241 4	0,920	+-	101	00	142	
0 0000/	20	+	÷	0 600	-		_			9			л ОпО	+	01	60	C / Z	
		+		,	+		+		+	1				+	6.			ADM 501 to 1000
0.084%	149	-		16.153	-		-		+	÷,			7.650	1.435 \$	1.125	1.250	310	Yukon/Kovukuk
0.053%	82	-		11,552	-		-		-	ŝ			7,650	-	29	32	1,221	Sitka Borough
0.030%	444		÷	21,577	-		-			÷			7,650	-	ı	ı	1,902	North Slope Borough
0.131%	2,335		ŝ	11,174						÷		1.338 \$	7,650	1,008 \$	828	920	180	Nenana
0.037%	(3,018)	23,245 \$	Ş	20,227	7 \$	\$ 20,227	5,990 \$	\$ 5,9	54,457,134	÷		1.861 \$	7,650	1,973 \$	•	-	1,973	Lower Yukon
0.035%	768	-	\$ 2	22,290	0 ه	\$ 22,290	-			Ś		1.998 \$	7,650	1,748 \$	,	ı	1,748	Bering Straits
					╞													ADM 1,001 to 2,000
0.039%	102	23,580 \$	\$	23,682	\$	\$ 23,682	-		60,333,341	Ś	\$ 17,045	1.823 \$	9,350	-	29	32	1,979	Northwest Arctic
0.038%		17,089 \$		16,982	-		4,930 \$	\$ 4,9		÷		1.289 \$	9,350	2,421 \$	132	147	2,289	Kodiak Is. Borough
0.042%	168			14,825	-		-		35,325,348	÷		1.170 \$	9,350	-	59	65	2,220	Ketchikan Borough
																		ADM 2,001 to 3,000
0.016%				19,332					118,733,871				12,750		1		4,122	Lower Kuskokwim
0.032%		22,864 \$	\$ 2	22,341	1 \$	\$ 22,341	7,742 \$				3 14,599	1.145 \$	12,750	4,741 \$	36	40	4,705	Juneau Borough
0.078%	(901)			20,661			_	\$ 2,9		\$		1.391 \$	12,750		3,330	3,700	293	Galena
							'		_									ADM 3,001to 8,000
0.009%			\$ 2	22,987		\$ 46,318		\$ 28,128	255,707,649	÷	\$ 18,190	1.070 \$	17,000	18,887 \$	1,918	2,131	16,969	Mat-Su Borough
0.017%			\$ 2	22,987	4 \$	\$ 35,114	207 \$	\$ 15,207	138,247,518	÷	\$ 19,907	1.171 \$	17,000	8,706 \$	672	747	8,034	Kenai Pen. Borough
0.012%	228	22,759 \$	\$ 2	22,987	2 \$	\$ 39,892		\$ 21,702	-	Ś	\$ 18,190	1.070 \$	17,000	13,671 \$	261	290	13,410	Fairbanks North Star
0.004%			\$ 2	26,819	\$	\$ 84,410	-	\$ 67,410	612,820,061	÷	\$ 17,000	1.000 \$	17,000	47,444 \$	927	1,030	46,517	Anchorage
																		ADM over 8,000
as % of GF	2017	Billed	Bil	Billed		Assessed		Assessed	Projected GF	Pro	Base Fee	Cost Factor Base Fee		ă	90% of	Residential Correspond.	Residential	School District
Budget	2018 Dues		20	2018		Fee plus		at .00011	2018		DCF X	District	Fee	2018	CS ADM	Study ADM	ADM	
Dues	Comparison					DCF X Base		GF Budget				DCF						
					1						E2 - 1 -							
											<b>&gt; ? : ロ</b>	2018 Diles - FINAL						

# Association of Alaska School Boards 2018 Dues - FINAI

						2018 D	2018 DUES - FINAL	VAL						
						DCF			GF Budget DCF X Base	DCF X Base			Comparison	Dues
	ADM	Study ADM	CS ADM	2018	Fee	District	DCF X	2018	at .00011	Fee plus	2018	2017	2018 Dues	Budget
School District	Residential	Residential Correspond.	90% of	Adjusted	Base	Cost Factor	Base Fee	Projected GF	Assessed	Assessed	Billed	Billed	2017	as % of GF
ADM 101 to 250														
Aleutian East Borough	213	1		213	\$ 3,400	1.991	\$ 6,769	\$ 8,738,436	\$ 961	\$ 7,731 \$	7,731	\$ 7,768	\$ (37)	0.088%
Bristol Bay Borough	116	Б	5	121	\$ 3,400	1.478	\$ 5,025	\$ 3,456,172	\$ 380	\$ 5,405	\$ 5,405	\$ 5,406	\$ (1)	0.156%
Chatham	166	7	6	172	\$ 3,400	1.576	\$ 5,358	\$ 4,576,937	\$ 503	\$ 5,862	\$ 5,862	\$ 5,851	\$ 11	0.128%
Haines Borough	235	17	15	250	\$ 3,400	1.200	\$ 4,080	\$ 4,361,803	\$ 480	\$ 4,560	\$ 4,560	\$ 5,602	\$ (1,042)	0.105%
Hoonah	106	1		106	\$ 3,400	1.399	\$ 4,757	\$ 2,761,316	\$ 304	\$ 5,060	\$ 5,060	\$ 5,134	\$ (74)	0.183%
Klawock	129	1		129	\$ 3,400	1.302	\$ 4,427	\$ 3,207,498	\$ 353	\$ 4,780	\$ 4,780	\$ 4,797	\$ (17)	0.149%
Southeast Islands	196	1		196	\$ 3,400	1.403 \$	\$ 4,770	\$ 7,248,334	\$ 797	\$ 5,568	\$ 5,568	\$ 5,605	\$ (37)	0.077%
St. Mary's	190	1		190	\$ 3,400	1.624	\$ 5,522	\$ 4,408,900	\$ 485	\$ 6,007	\$ 6,007	\$ 6,007	\$ (0)	0.136%
ADM 100 or Less														
Aleutian Region	24	1		24	\$ 1,700	1.939	\$ 3,296	\$ 1,750,300	\$ 193	\$ 3,489	\$ 3,489	\$ 3,485	\$ 4	0.199%
Hydaburg	72	20	18	00	\$ 1,700	1.504	\$ 2,557	\$ 1,710,383	\$ 188	\$ 2,745	\$ 2,745	\$ 2,767	\$ (22)	0.160%
Kake	97	1		97	\$ 1,700	1.459	\$ 2,480	\$ 2,633,498	\$ 290	\$ 2,770	\$ 2,770	\$ 2,794	\$ (24)	0.105%
Pelican	7	I		7	\$ 1,700	1.477	\$ 2,511	\$ 583,715	\$ 64	\$ 2,575	\$ 2,575	\$ 2,565	\$ 10	0.441%
Pribilof Islands	60	I		60	\$ 1,700	1.691	\$ 2,875	\$ 2,112,548	\$ 232	\$ 3,107	\$ 3,107	\$ 3,171	\$ (64)	0.147%
Skagway	100	I		100	\$ 1,700	1.174	\$ 1,996	\$ 2,642,847	\$ 291	\$ 2,287	\$ 2,287	\$ 2,276	\$ 11	0.087%
Tanana	37			37	\$ 1,700	1.786	\$ 3,036	\$ 1,419,356	\$ 156	\$ 3,192	\$ 3,192	\$ 3,193	\$ (1)	0.225%
Yakutat	59	25	23	82	\$ 1,700	1.412 \$	\$ 2,400	\$ 1,959,229	\$ 216	\$ 2,616 \$	\$ 2,616 \$	2,622	\$ (6)	0.134%

# Association of Alaska School Boards 2018 Dues - FINAL



1111 West 9th Street \* Juneau, Alaska 99801-1811 (907) 463-1660 \* (907) 586-2995 Fax

#### Invoice

Lake & Peninsula School District ATTN: Accounts Payable P.O. Box 498 King Salmon, AK 99613

Date	Invoice #
1/10/2018	17357

		P.O. No.	Terms
x ID: 92-0098760			Net 30
Quantity	Description	Rate	Amount
21	018 AASB Annual Membership Dues	10,097.00	10,097.0
		Total	\$10,097.0
		Payments/Credits	\$0.0
		Balance Due	\$10,097.0